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1| 2B f(x) = —22 =2z + 1, g(x) = —22° + pr+ g IZDVWT, LFORMITBER &. 2L,
g(1)=-2, g(—=1)=0THY, p, ¢ FEHOEHLT5H. £RME b, MEL & HICHIBRY T L.

(1) p& gDk k.
(2) f(x) <g(x) L2 x OEOHFHZ KD L.

(3) hix) ZRDLHIZEEKTS.
f(x) 2 glz) D&t h(x) = f(x)
f(x) < glx) DiFEIE h(x) = g(x)
iz, EOFEEEIZHLT MR & m(E) ZROEDIZEETS.
MR IF -k xS RIZBITS h(x) OmKE
m(R)ix —k<x S RIZBITS h(x) DE/MA
(i) M(2) & m(2) Ofi% K £.
(ii) M(k) & m(k) Offiz k % W TFHEE.

(D gM=-2&y, p*¢-2=-2 =~ p+tg=0--0
4(-1)= 04Y, =P+$-2=0 - -P+3=2 - @
®©.@sY pP=-1.%=1
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@ F0-9(x) = —a®-2x+1 -(-2x2-x+1)

= x2-x%

x(X-1)
~feo<gen &y, fro-gm<o o T,

1(x=-1)< 0 oo 0<xK
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(32 I, 0<x<laeFd. R(n=900=-2x%z2 +1
X£0 3@ ISx ot (X A= f(O= —x2-2x+1

FeH3L,
fo= =2x*-xt] (0<x< | eF)
~x2-gx+{ (x£0,15x0c¥)

~2(x+ £+

1

~2xt-x+1

~x2-2xt 1= —(x+1)%+2
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(1) p& gofazke £.
(2) flx) < glx) %3 xr DEOEE% R £
(3) hx) kDX HIZEHT S,
f(x) 2 g(x) DEEF (x) = f(x)
f(x) < glx) DBEE h(x) = glx)
FRIZ, EOFEBERIZHLT MR & mk) Z2ROXSIIEHET .
MR IF RSz <SRIZBITS h(x) OFRKE
m(k) 1k —k <z S RIZBIT 3 h(x) OF/ME
(i) M(2)& m(2) iz ke £.
(i) M(k) ¥ m(R) OiEi% k% VT EYE,

G) a4 &),
M(@2)= h(-1) = 2
m(2) = f(2)=~1T Y=hx)
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) O<KRS 1 RELTIR R0 R BB 11,
M(R) = R(-R) = ~R*+ 2k T1
meg) = A(R)= —2&*-R+1
1<R 1THhuTIT.

M(k)=h(-1)=2
MR = h(k)= -R*-2h+1
LAEEFLHNI L,
M(ﬁ)={-ﬁ2+zﬁ+1 (0<ks1)
2 (&>1)
M) =[-28 ~k+ 1 (0<REN)
i—ﬁz—szt (k>1)

—




